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B8 Ba | EHRE J& & fe ;& B e & i 49
i g _ ; PA0ao) | PRA0D2802 | PRA002803
A E ka/m? . 1726 990 592
pH - 2.0~12.5 12.33 11.12 11.44
Ak & % - 22.5 2.53 1.37
§.4tw - SiO2 % - 20.3 12.3 3.75
f b4k » FeO3 % - 1.14 117 0.18
£.1b48 - AlO3s % - 2.98 2.87 0.19
445 - Cal % - 0.82 12.1 24.1
# CI % - 1.43 9.50 28.6
it |BREEAR » SO % - 0.04 0.45 1.99
2 HBas mg/kg - 3800 471 1740
AR 445 mg/kg - <10.0 43.3 153
o 4R mg/kg - <0.200 0.611 9.34
z k2 /
Py mg/kg - 4810 6720 12000
B 44 47) mg/kg - 5960 049 064
44 mg/kg - 604 606 15.9
sy mg/kg - <20.0 <20.0 <20.0
4 4R mg/kg - 330 495 154
= ND ND ND
ARE mg/kg i (MDL=0.02) | (MDL=0.02) | (MDL=0.02)
BB Bkl ng -TEQ/g - 0.039 0.292 6.17
B] 2 5 % - 2.70 3.17 9.43
KR E % 5.0 2.4 - -
= ND ND
TeLPek | mgl | 02 [ NB | oeooos | 00125
ND ND
fa £ *
TCLP#ss | moll | 50 | o' oo | oisoosny | 423
s <0.050 ND ND
& [ICLP&& | moll 1.0 (0.028) (MDL=0.016) | (MDL=0.016)
4 |TCLP #24% mg/L 5.0 0.487 3.49 0.277
. & ND ND <0.100
. TCLP #ass mg/L 5.0 (MDL=0.038) | (MDL=0.038) (0.042)
3% TCLP 7184% | mg/L 2.5 0.18 3.47* 0.04
ND
.47
B |TCLP #a4m mg/L 15.0 1.65 (MDL=0.017) 0.910
ND ND <(0.100
TCLP g | molL 1.0 (MDL=0.039) | (MDL=0.039) (0.068)
TCLP 4248 mg/L 100 0.630 1.48 417
TCLP #a 4% mg/L - 0.133 <0.050 7.58
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